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5-Marks

Q1) Find f(x) given and f (8)=4.
15-Marks

Q-2)  Find the following integral,

[ (2x+3 sin(l)dx
a) J ( ) 2
. 2
b) 15+4x—X dx
* (x- l)(x2 + 5)
o 2 4
c) x“(2-x)" dx
J2
5-Marks
Q-3)  Find the average value of the function over the interval [1, 2]
7-Marks

Q-4)  The demand function for a product is p = 574 —3x? and the supply function is p= x% —102. Find

(@) the market equilibrium.
(b) the Consumer’s surplus at market equilibrium.

6-Marks
Q-5)



10-Marks

2X
Q7 a  Findthe limit: lim & —2X—3+2C0SX
x>0  —x% —2x+sin2x
b. Evaluate the following improper integral: J‘ 1 dx
2 (3x-2)°
5-Marks

Q8 Verifythat ¥ =x2InX is a solution of the differential equation X2y" —2y =3x2.

5-Marks
Q-9)  Use separation of variables to solve the differential equation \/— ( )

v ()

subject to the initial condition y =4 when x=0.

6-Marks
Q-10) Due to equipment upgrade and new location openings, a Fitness Club estimates that the number of

members will increase at the rate of N'(t) =1800(4 + O.5t)_}/2 , (0<t<24)

per month, t month from now. If 25,000 people are currently members of the Fitness Club, find an
expression giving the total number of people who will be members of the Fitness Club t months from
now. How many people will be members 10 months from now (t






